3 (Sem-3/CBCS) ECO-HC 1

2022

ECONOMICS
( Honours )

Paper : ECO-HC-3016
( Intermediate Microeconomics—I )
Full Marks : 80

Time : 3 hours

The figures in the margin indicate Jull marks
Jor the questions

Answer either in English or in Assamese
1. Answer the following questions (any ten) :
1x10=10
o 2PCRE Tas fdn (R oeent weht)
fa) What is ordinal utility?
TGS Tepfaret f 2

(b) State the law of equimarginal utility.
Henfes Seiganfarer RRfEoT Seas 1 |

(c) Define indifference map.

Faeors Q<R Tebas sieen |

A23/178 ( Turn Over )



(2)

(d) What is the marginal rate of substitution
between two perfectly complementary
goods?

iﬁﬁ#ﬁﬁwmﬁm—ﬁmmm
[EEH:

(e) What is substitution effect?

oifSew e 2

(f) Mention the ‘Giffen paradox’.
Pl Sf123°C1 Srard <01 |

(g) What is meant by production?
e e 1 qam 2

(h) Give one example of implicit cost.

P I BT Srrzaet T |

(i) What is meant by a person be risk lover?

T a1 TZF A & @ ?

(i) Why is the long-run average cost curve
U-shaped?

T 5% T @CE U-Sgfeq g =59

(k) What is iso-cost line?
SR (@3 8 2

A23/178 ( Continued )

(3)

() How do you calculate the marginal rate of
technical substitution?
ﬂl%ﬁgﬁ'{%ﬁf@ﬂwaiﬁmgﬁcwqw
FIRA1?

(m) Draw an isoquant curve for perfect
complements of factors.

A AReRE T GO F-SeoAT (@1 S
901

(n) Mention one important reason for
decreasing returns to scale.
TRPHF TAM T <61 3Fg)o FRI Tead
1

o) Define variable factors.
TGN SR el fra o

(p) What are iso-utility curves?
F-BoAcIfrel (PR R 2

(g Why is average revenue curve of a firm
under perfect competition horizontal?

o eferfienEe o afedm «oF o =
@ o i =0

() Why are selling costs not incurred in
perfect competition?

7 efecfrenere e R T 8 1 723 9

A23/178
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(4) (5)

2. Write short answers of the followi i
owin
(any five) : & questlzris;S:l 0 () Show that average cost is the
o9 TS y combination of average fixed cost and
5“1%@ fuan (R Giea iobr) - ' i average variable cost.
(a) What is meant by the slope of an iso-cost (e A °T° T T o T AT T
line? AR T I |
MBS NEIRUI G I&[
BT e % T 2 (g) What is strong ordering?
=fea @9 2

(b) Distinguish between groés demand and
Distinguish between risk-averter and

net demand. (h)
:[‘5 BIf2H S W% SIfRAE oo {1203 Ay 7| risk-neutral individuals.
- OE - e T
() Can we apply the law of diminishing e P 1|
marginal utility to money? Gi
" Y alve reasor. i () State the two conditions for equilibrium
el et RfEer =i qwR of firm under perfect competition.
© AT 2 EHIRIA
Haig o3 afcairerge Tare AP © 7%
o1 TCay 91 |

(d) State Slutsky’s equation.
() What is a marginal firm?

XTG> TRFITCO! SCEY 41 1
o afdi %2

5x4=20

(e) If B=x-P,+Yy-P,, where B represents

money income of the consumer, P, and 3. Answer the following questions (any four)

P, represent prices of goods x and y
ivel
;Zzzeucct:e y, find the slope of the o 2 v i (R e W) -
3t B =x- Py +Y- Py W, TS B4 Boigeren e =y hi explajnmart}'lflal pnr:‘gtpele c(;ff
R, P, WE Py T G x GF y TR du’nln'lS ing gl p ST
NI O fe ¢ L substitution. What role does it play in
A23 o shaping indifference curves? 3+2=5
/178
( Continued ) A23/178 ( Turn Over



(b)

(6)

TEPAF ofes afses 9 AT s3ee IR
790 | Freers @ on TR cRge 3 e gl
T FCI? ‘

What is income-consumption curve?

Derive income-consumption curve for
normal goods. 1+4=5

-l @Y 57 FElRE AEAR Sm-
Gelgerel (@Iere SRdd 91 |

{c) Explain the revealed  preference
hypothesis. 5
2T SR AFHCOT 1 T4 |

(d) Fill in the blanks in the table below :

I+14+1+2=5
e ORI el SRR 7[T I :

Output | Total Total Total Average Average

Seayry | cost (F) fixed variable fixed variable

Eé cost (¥) cost (¥) cost (¥) cost (¥)

)| PRI | PR | TR | A AR

wEw) | wWEwm) | wEw) | W)
0 50 — - - -
1 70 = — — 5
2 100 = b T =
3 120 — = — —
4 135 = = = ==
S 150 = = = ==
6 160 — = — —~
7 165 = = a —

A23/178

( Continued )

(7))

(e) Examine the following data on outputs
and inputs. What type of returns to
scale does it represent and why? Give

arguments :

2+3=5

oo fral Seewe o SR OAPHR o[
39| @ Teoma a2 afsffdy sfRey
w1 o 2 I

Capital (F77%) (K)

Labour (=) (L)| Output (&&71%) (Q)

5
10
20
40

8
16
32

64

3
6

12
24

(9)

(h)

A23/178

What is

expansion

path?

Derive

expansion path with the help of diagram.

1+4=5

ke CE IR VB D R B Ol b LB RASIES L
390

Derive average fixed cost curve from total
fixed cost curve.

3 B T @F AW e B I @SR
91|

Can a firm under perfect competition
operate in the short-run when it is

making losses? If so, explain the
condition with the help of diagram. 1+4-g

( Turn Over)



4.

(8)

A e o e @B afohi
O TR 218 By IR a3 afg

AT 2 3t A1, coez R faw
T 4 | R

Answer the following questions (any four :

10x4=40

OIS LI T il (R et wifB)

(a) Wi;ia 'the help of indifference curve
analysis, derive individual an
demand curve. 5 margff;—lo

e @ fopes ere i o
- SRIR=ICS
G DI @31 S 4 |

(b) Explain Slutsky substitution effect for a

(c)

A23/178

rise in price and for a fall in price

S+5=10

T g% S T 2P RIS Mo efs Ro
IR <41 |

What is meant by jnter.
choice? Explain inter-temporal
consumption.

GG A WA & qemy
HBTHINS 7= A 4 | )

temporal
choice of

2+8=10
CoIsq

( Continued )

(d)

(e)

A23/178

(9]

State and prove Samuelson’s
fundamental theorem of demand.
Mention any two limitations of the
theorem. 8+2=10

GIEER (e bR ogl TEe T AE
I 9 | ©goR R @ 1o MEEwel SE

<90

What are the assumptions of N-M utility
function? How can N-M utility index be
constructed to explain the choices by an
individual under risky and uncertain
situations? Explain. 2+8=10
N-M Secarer womd SfeqRemR @ & 2 =fe-
w5 o el ARfEfes afed o=w A
Rt N-M Tocfiel o e s IR
oIf} 7 4 4|

State the law of diminishing returns.
Why do diminishing returns to a variable
input occur eventually? Can they become
negative? If so, why? 4+3+2+1=10
FEpEE teem  RRGT Ty 99 90!
ARG T (RS SRPTE ORI
e B 2W? T 4I9E 298 ST ? AW
ofieq, 92

( Turn Quer )



(9)

(10 )

What are increasing returns to scale?
Show them on an isoquant map. Explain

- the causes of increasing returns to scale.

(v

(i)

A23/178

1+5+4=10

ST T TG 2 S-Seoe Tivaq
RES (ST | S T TR IR
140 4 1

Define marginal cost. How is it related to
marginal product of a factor? As output
is increased, marginal cost first falls and
then beyond a certain point it rises. How

would you explain it? 1+5+4=10

AfeF I RR Fw I G5 TemrE e
T TS WR FERA R R 2
Teofme @feT i@ A, e < 2ixwee 20 o
wF ¢! i R Pree 2 3f% o 12 ofy
(R T4 FRAT 2

What is meant by firm’s equilibrium?
Explain how a firm arrives in equilibrium

in the short-run. 2+8=10

oSBT ST TG ¢ T2 xS sifowm
B3 (e ST 1S ¢, IR <7 |

( Continued )

LR

( 11)

() Distinguish between market price and
normal price. Explain the determination
of market price in the very short period
under perfect competition. 4+6=10

[ 79 HE T €9 &S 12y fg 4 |
4o efecfreonse Tare wfs gxeEs @9 ™
e aifes = 4 |

A23—4500/178
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ECONOMICS

( Honours )

Paper : ECO-HC-3026
( Intermediate Macroeconomics—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following as
directed : 1x10=10

were e o @ WA FeteEE Ted
e

(a) What is aggregate demand?
S s 2

(b) Express effective demand in a four-
sector system.

sift Ry sfafoo Ay oz o 41 |

A23/179 (Tum Over)



(2)

{c) What is open economy?

T& 9IS fF 2

(d) Mundell-Fleming model assumes that
capital is

TOUF-GFRR RS Foe e 22 F91 =
(i) perfectly mobile
Smjefaeel Ber RRored
(i) perfectly immobile
rpefice! ST 21
(iit) imperfectly mobile
SPfRCe B R
(Choose the correct option)

(o Rsicor Az Bferen)

fe) What is the shape of long-run Phillips
curve?

T RefereR (R SRS e 2

() The aggregate supply function at full
employment is

o ToICe] <RI SRET @18/ FAeo1 27

iy more elastic

g ffowree

A23/179 ( Continued )

¥

(9)

(h)

0)

A23/179

(3)

(ii) less elastic
7 fEfemee
(iii) pérfectly inelastic
i RE TR G q b
(Choose the correct option)

(= fiFsco A Sferean)

Who developed the purchasing power
parity theory?

T HAON 0] OG0! (I Sare FRee ?

Define asset market.

TR JEIEE g fan |

What is Capital Account in Balance of
Payment (BoP)?

(@A Fr Jege {2t 2
At the point of effective demand
ey oifErE e
(i) aggregate demand = aggregate
supply

THES vIfR = ANES @l

(i) aggregate demand > aggregate
supply

AT sifE > AHES @i

( Turm Over )



(4)

(i) aggregate demand < aggregate
supply
ST B1fEAr < i Qo

(iv) Both (i) and (iii)
(i) ST (i) T
(Choose the correct option)

(w7 feseor 91z Sfaean)

(k) Supply inflation is caused by
G T RISt I 2o
(i) wage push
TG @D
(i) mark-up pricing
-1 Io7)
(iii) profit push
#req 251
(iv) All of the above
@7 HHRER

(Choose the correct option)

(wa Rescor aifk Sferean)

A23/179 fEgtied |

{

(m)

n)

(0)

)

A23/179

(S)

The natural rate of hypothesis involves
AT 2R S T T
(i) adaptive expectation

SfecafEe o
(ii) rational expectation

(Tfes e
(iii) Both (i) and (i)

(i) ST (i) T=H

(Choose the correct option)

(o feas Atz Sfeea)

Write one measure to control cost-push
inflation.

e qErRfe g TR < T

Mention the ‘1-S components of
Mundell-Fleming model.

PR R NIES Se-REeR SAEER
TeEe 41

Define arbitrage in international
payment.
ST e SGSs ke |

What is international financial market?

sEsifes ey Iam 62

( Turn Over )
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2. Answer any five from the following :
S

(@)

(b)

A23/179

(6)

Write one criticism of effective demand.

RFy IR B HCEAO o7 |

The concept of foreign trade multiplier
was developed by

P TG @R REAICET SRS T

(i) R. F. Khan
HE. 9%, -

(i) J. M. Keynes
(& @9, TR
(ifi) Samuelson
CRACHET=A
(Choose the correct option)

(= fFsicor iR Sferean)

2x5=10
foarared o[ B e #weR Ted fr

What is Eurocurrency market?
%oea1 @l e 62

Define natural rate of unemployment.

e Afes 219 kel i |

What is meant by mark-up inflation?
T -5 JErifecy e e 2

( Continued )

(d)

(e)

)

(h)

(1)

0)

A23/179

(7))

Write the reasons for inverse
relationship between inflation and
unemployment.

il e feEr T ReEe TEH
e fers |

Mention two assumptions of Mundell-
Fleming model.

Tooe-qrf S w1 SSARe SoEs = |

Define effective demand.

wier sz wige |

What are the determinants of
equilibrium rate of interest?

ST I 2 e &

In what way expectation influences the
rate of exchange?

oreyeia 5 4@ [ TR SIS I ?

Mention two limitations of adaptive
expectation.

SR Ao 1o el @y < |

What is foreign trade multiplier?

e e @@ 97
( Turn Over



3. Answer any four from the following :

(8)

Wﬁwmwwﬁmﬂﬁm%@ﬁm:

(a) Explain briefly the monetary approach
to Balance of Payments (BoP).

e o) (BoP) Jmiore wfgssiin fRacy

5x4=20

(9)

() What are the prerequisites of Keynesian
theory?

R%A oG e R 2

(g9 What is aggregate supply? How does
aggregate supply curve determine in

Keynesian economics?

5L 1Y 391 |
sEE @ 57 @pd gdRfce THiES
() Write a note on Dornbusch’s T @1 foomet e w1 = 2
overshooting model.
‘ R (h) Explain the concept of demand-pull
SHSIREIA SIE 6l R inflation.

ot
' far-gfaTe U CRAT T

(c) Distinguish between spot and forward

h 1 :
Tl Wrate &F : [ 4. Answer any four from the following : 10%x4=40
jc:gemq?; IS0 TS were fRAEE o[ R @I wifRbR Ted i

(@) What is rate of exchange? Explain the

(d) Briefly explain the components of determination of equilibrium rate of
2+8=10

international financial market. exchange.

WFE(oT [N ORI MR e N Rty 79 B2 oemw R 2w e [
1 41 =, I 40
(e) How : does natural rate hypothesis (b) Explain  critically  the rational
explain the unemployment-inflation expectation hypothesis.
relationship?
Gfee oMM SNMCl  FACEHA  FREICS
AFeT T S e we TErafes 07 40 |
G (AR I e, s |
: ( Turn Over )
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(c)

(d)

(e)

(g)

A23/179

(10)

Explain the asset market approach to
determine exchange rate.

e =" Ff[a SR 7w qoe g
TR 341

Establish the relationship between
foreign trade multiplier and marginal

propensity to import.
QAT ANER @ HF e SEwi
QT (G T+FCHT I 41 |

Discuss the Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed exchange rate with perfect

capital mobility.
Ty See e Oice 7 R aee
TeT-@ReT CNfee ore qeEste i e

BURIESIN

Discuss the determination of
equilibrium  level of employment
through effective demand.

ey BN EREce S e e e
e 1 27, SACEa 54 |

Examine the police effectiveness of
Phillips curve.

feferez (9319 fere IR 0 54 |

{ Continued )

(11

(h) Explain the purchasing power parity
theory of exchange rate.

RfTT T3 T THOR o] ©GO! AN F47 |

(i) Explain the determinants of aggregate
demand.

AEEE SRR TR T 40

() Explain the factors that cause
fluctuation in the exchange rates.

R ze wfEFen R T FREER I
bl

* ok *
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ECONOMICS

( Honours )
Paper : ECO-HC-3036
( Statistical Methods for Economics )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10

oo frgicare & e wivR fot <SPk Seg fora -

(a) State whether ¢ (sigma) is a population
parameter or statistic.

c (sigma) SWfE9® 2ve] A dfonfs e 41 |
(b) What is coefficient of variation?

L ELEREC R
fc) Define equally likely cases.

ST S0 e fie |

A23/180 ( Turn Over )



(@

(e)

()

(h)

()

1}

A23/180

(2)

If A and B are two independent events,
P(AU B) = P(A)+ P(B)- P{An B).

(Write True or False)

IMA SF B YOl FoF WAl H, (SR
P(AU B) = P(A) + P(B) - P(AN B).

(um @ SRR fora)

What is meant by probability
distribution of a random variable?

i v TSIl 35 Jfece R e 2

What is the difference between the
variances of Binomial distribution and
Poisson distribution?

oo S oFD IB9 PR 19 62

What is marginal probability

distribution?

2Nfe STl 3% 1 2
Define purposive sampling.
S e Sifendd e il |

Mention two methods
sampling.

i AfO5Ea o1 “1afs Sy 41 |
If r=0.9, interpret the result.

3ft r =0-9 2, TR 79 & T@w 2

of random

{ Continued )

”

(k)

@

(m)

n)

(o)

)

(@

A23/180

(3)

What is the relation between mean,
median and mode?

TG, T P IZPT T4 6 7

Define conditional probability.
SO B Fgee for |

(Write True or False)
(wm 1 wrem ferd)

Write the probability distribution
function of Poisson distribution.

5 IB STGILS 35 FoC! el |

If two values of a variable in a series are
equal, how is the rank determined?

It @B TR BT o1 T TP T (SR A
TR G @ = 90 =2

What is scatter diagram?

431 foq K 2

Define covariance.

SASEe Sge |

( Turn Over )



(r)

(4)

Show that E(c) = ¢, where cis a constant.

@S A E(Q = ¢, IS ¢ T& 401 49 |

2. Answer any five of the following questions :

©ed & FIC (o6t 29 e foran

(a) Distinguish between arithmetic mean

(b)

(c)

(d)

A23/180

2x5=10

and harmonic mean.
sfafes e o1 AT 5I%d Aere #1442

If the values of a variable of a series are
multiplied by a constant, what will
happen to standard deviation?
37 b1 5o TACIA 9B &9 R 77T 0
T, T=F Roe @ 2eliee = ?

Under what conditions binomial
distribution tends to Poisson
distribution?

RFREAT 599 YRS a2/ 994 @b I%wca
FeREe 2 ?

A card is drawn from a pack of well
suffled pack of cards. What is the
probability that it is either a king or a
spade?

Bl ©I6 CPIF07 #[1 A 93 SIS Bl I,
(SR X @ ARAN FAE QAR IR
o 2

{ Continued )

(e)

(g)

(h)

()

0)

A23/180

(S)

Write two demerits of systematic
sampling.

(95T 2AfObT 7o TR for |

Distinguish  between . linear and
non-linear correlation.

RS T IF ATTTR o AL o |

If the first quartile (Q;) =30 and third
quartile (Q3) =35, find coefficient of
quartile deviation.

i 43w vgder (Q)) =30 S YO v
(Q3) =35 T, (SrTR'TA TR ITRs et |

Write two properties of Poisson
distribution.

o7 9 o1 < e

Mention two variables whose correlation
coefficient is zero.

GG o1 5% STy 1 TR DTIIE A A
ST |

What is moment?

g 2

( Turn Over )



(6) (7))

3. Answer any four of the following questions : (c) Prove that

A23/180

5x4=20 E(aX +bY) = aB(X) £ bE(Y) 5

w4 f e wifRht e Ted o

(a) Show that standard deviation is
independent of change of origin but not
of scale.

(e @ WA R 9 RIS R ¥
fog @7 ARTET {1 Tod T |

(b) There are 3 economists, 4 engineers and
2 statisticians. If 3 persons are chosen
at random for formation of a committee.
What is the probability that in the
committee there will be

(i) one from each profession;

(i) 2 economists and 1 statistician;

(iii) all engineers? 2+0+1=5

3 o wEAIfew, 4 & SRE §E 2 T
{faifE /1 3 G 0 9B S s T
27 | Afifoe—

(i) AEF P A G& PR I
e 2

(i) 2 & AR wF 9w ARSRmE
41 STl e 2

fii) 3 R STE @R R e 2

{ Continued )

(@

(e)

Player

el

A
B

A23/180

o9 91 @, E(aX + bY) = aE(X) £ bE(Y).

What is skewness? Determine Karl

Pearson’s skewness from the following: 5
Size I O B bt i D)
Frequency : 12 8 20 7 13

Shifeel 57 ¢RI ORI 71 T Pt

SiFe Tened |

Describe briefly different steps involved

in sample survey. 5

afor{ *RreR oTee wibe [ien Rz 5

ERCIESIN

In a 5-match one-day international
series involving India, two veteran
batsmen made the following scores : S

S T (A1 A SARBHB PRI ¢ 4
TS T3 TR GO AR T AN OO
fran e

Score
7
1st ODI 2nd ODI 3rd ODI 4th ODI  5th ODI
65 120 15 95 25
46 69 80 65 45

( Turn Over)



(9)

A23/180

(8)

Identify the better batsman and more
consistent batsman in the series.

XYM (S @00 @R SF e
e (@65 %9 foere 541 |

Income of a group of 10000 persons
were found to be normally distributed
with mean ¥ 520 and standard deviation
is ¥60. Find—

(i) the number of persons having
income between 400 and ¥550;

(i)) the lowest income of richest 500.

For a standard normal variate z, the area
under the curve between z=0 and
z=0-5is0:1915, the area between z=0
and z=1-645 is 0-4500 and the area
betweent=0and t=21is 0-47725. 5

10000 A 9 [{e99 AR fieqm s
FECS T 520 5F HF A7F [ 60 T3
CoITaT T |

(i) RIR R4S TR W/ 400 591 &F 550
539 Trere ACH ?

i) HRE W@ W 500 TR fSoge
HolEeE W OWE [EE| elq 9
P(0<2z<0-5=0-1915,
P(0<z<1-645)=0-4500 e
P0<2z<2)=0-47725.

( Continued ) .

A23/180

(9)

4. Answer any four of the following questions :

10x4=40

wed i e it 2 Teq fop

(a) Why is arithmetic mean known as ideal
average? State and prove the properties
of arithmetic mean. 2+8=10
sfdfes oo 69 s e W R =2
Sffes STe9 GAFEPTR T WIF o419 39 |

(b) Show that AM=GM=HM. Calculate
mean and standard deviation from the
following table : 6+4=10
CﬁﬂﬁﬁTﬂAMzGMzHM.W_ﬁ‘M q [

5G TIF TWS [ve Sfered

CI it 09 10-19 2029 30-39
1 e

Frequency 25 39 23 14
SIEkSIEC)

(c) State and prove addition theorem of
probability when the cases are mutually
exclusive. From a bag containing 4
white and 6 red balls, 3 balls are drawn

at random.
(i) Find the expected number of white
balls drawn.

(ii) Find the expectation of drawing at
least 1 red ball.

4+3+3=10
( Turn Over )



(d)

(e)

A23/180

( 10 )

TR @R ©Gh TE WF 49 9 46
T AR IRES W1 9 @S 45
oI S 651 981 97 =eE | 351 <=7 Seomy 2747 |

() o0 T CIRIF snfafes efemr Sferea |

(i) FICTS 151 91 99 AR M eregp
Sfered |

Derive the mean and variance of
binomial distribution. On an average
2% of population in an area suffer from
TB. What is the probability that out of 5
persons chosen at random from this
area, at least 2 persons suffer from TB?
6+4=10

faem o oIC W 2P Sferedr | g3 iz
oM RO 2% TS TH & | O 91249 oy
i S T AR IRIA IR e |,
COCIRCE FHACHPS 2 G P
R Ty TRI T4 @R

Distinguish between sampling error and
non-sampling error. “Sample survey is
advantageous than complete
enumeration.” Explain . 5+5=10

Afevm @ IF AL wfox wree ey
i U L
SRS 1 T 4|

( Continued )

(11 )

() Write short notes on stratified sampling
and purposive sampling.

o dferm =F S AferTE oS
59 CBr ferd |

() What are the underlying assumptions of
Karl Pearson’s correlation coefficient?
Find Karl Pearson’s correlation
coefficient from the following :
I Pt TmE R SReHRe
SfeqearTe Bl o e R e
et TTIRe TR Sfee

23 30 35 28 41 45 53

Age of husband
19 T
Age of wife 21 ‘23 28 2735 34143
REEE]
Interpret the result.
FAree 0 91|

(h) State and prove the properties of
correlation coefficient.

MENFESIMERE] (MBI TS AE GG 91

(i) Explain the main properties of normal
distribution.

HYEe G4 J2 CIFBPER STl 41 |
Show that in Poisson distribution, mean
is equal to variance.
o[ 91 G b IGT T AR AT I 2 |

* kX

0)
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5+5=10
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